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„ I^«- A - Log. P
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(5) Also the intorest, =A - P=P
{
( 1 + r )' - 1

1

II.—To find the amount anil present value of an Annuitfi ov periwlkal paijinent

for u givon time, at a given ruto {ler cent. Comitound IntereHt.

Let p =: Annual or fieriodic payment.

A = Amount of the annuity or |>erio(lic iiaymcnt Inci-eaMOil at

compound intereHt to the end of the time.

V = the pi-eHont vahie of the annuity.

R = (1 +r) = the amount of ^1 for one |toriod.

And / = the numl»or of yearn or periods of payment.

(6) Then A = ;Y-J^!llL^ whence I/og. A^Log. p+ l^tf. (R' - 1) - I.og. r

(7) and v -^ (A_—J ^ . A, whence Log. r=Log.^ + Log.(R' - I) - Log.r -
It ( K — 1 ^ K

/ Log. R
(8) .*. also A = vR* and Log. A = Log. v + / I^g. R

(9) TransiKiHing Log. R=i^-lAjlJ^8:JL

(10) (From 6) TranHposing, p = -.,—'^ whence Log. ^;=Log. A r - Log. (R' - 1)
R' — 1

Log. (A r + />)-Log.;>

Log. R(11) / =
Formula, Table VII.

A = Annuity or yearly InstalmentH.

S = Sinking Fund.

M = Cost of Management.
/ = Time or number of yeara or ttirms.

r = Interest on 81.00 for 1 year or term.

R = (1 X r) mnount of 81.00 for 1 term.
,

C =: 8100 (or amount borix)wed).

Then A = M + ^?'/
R* — 1

Example.—What Annuity or yearly Instalment will repay )$100 in 10
yeare, Cost of Management being 1/. and Interest 6X.

A = 1
100 X 106*" +06

ro6»«-r^
Log. (l-06»») •0253(>58653 x 10= •2.')30.'>8f;

+ Log. 100x06 = -7781513

Less Log. 106'» = -2030586 = 1 79085-1 = -79085 Log. =

Log. 13-59 =
.-. A= 1 + 13-59 = 14-59.
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